
Name Date 
 

 

BIRTHDAY BOY 
 

 

 

 

 

 

It is Tyger’s birthday today.  

He is 5 years old. 

On his first birthday, he got one candle. On his second, he got two. On his 

third, he got three. And so on. 

How many candles will he have had so far in total? 

 

 

 

How many candles will he have had when he is 7 years old? 

  



Name Date 
 

 

BIRTHDAY BOY ANSWERS 
 

 

 

 

 

 

It is Tyger’s birthday today.  

He is 5 years old. 

On his first birthday, he got one candle. On his second, he got two. On his 

third, he got three. And so on. 

How many candles will he have had so far in total? 

5 + 4 + 3 + 2 + 1 = 15 candles 

 

 

How many candles will he have had when he is 7 years old? 

7 + 6 + 5 + 4 + 3 + 2 + 1 = 28 candles 

 

 


